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1. BERBO
(1) #EEIRE

-4 HY A E3 & 1, 350, 000 1,600, 000 -250, 000
F = B -4 HY A 5 & 1, 250, 000 1,000, 000 250, 000
# = 8 -4 Hy A 5 & 100, 000 600, 000 -500, 000
-4 Hy E3 = 10,075, 3717 69, 227, 809 8417, 568
1E = 8 Z Hy = 7 18, 920, 000 18, 300, 000 620, 000
# = 8 -4 Hy = 7 1,210, 000 1,610, 000 -400, 000
E B = 8 -4 B = # 49,945,371 49,317, 809 627, 568
e E 3 4 ® 2,955, 112,163 3, 149, 358, 955 -194, 246, 792
OB F = # = I = 2,213,675, 568 2,355, 359, 838 -141, 684, 270
# B = # = 1 Einy 1,690, 732, 860 1,718, 060, 305 =21, 327, 445

£ O fth = # ' I = 922,942,708 637,299, 533 -114, 356, 825

il R 1 ® 14, 810, 216 106, 390, 216 -31, 580, 000
& 4R ® 444,715, 233 445,325, 530 -610, 297
# E iz 5l 4R ® 48, 648, 390 49, 058, 721 -410, 331

=l & i:3 i 4 ® 213, 505, 040 246, 676, 484 26, 828, 556

8 15 4R ® 16, 949, 804 92,131,074 -15,181, 270

E2 = 4 ® 45,611,999 57,459, 251 -11, 847, 252

g 7 4 ® 13, 503, 306 15, 108, 042 -1, 604, 736
g = 4 ® 1,443, 761 8,214,930 =771, 169

(& b= i % 4R o 181,373 101, 236 80, 137

] AR = H 4R Einy 938, 172 1,451,876 -913, 704

< ) ftt 4 i 4,740, 000 4,740, 000 0

7 L 4 ® 208, 407, 840 221,115, 329 -18, 767, 489
HiR&HBO 4 ¥ U F 00— 3& 10, 927, 636 11,934, 922 -1, 007, 286

H hi & by L 14 o 15,052, 196 9,321, 385 9, 130, 811

i3 & 5t £ 1 o 32,526, 195 38, 782, 300 -6, 256, 105

o ¥ b £ 1 o 61, 731, 903 66, 006, 255 -4,274, 352

i £ 5t £ 4 o 19, 307, 984 25,156, 7120 -5, 848, 136

< ) ftt 5t L 14 i 68, 861, 926 15,9173, 141 -7,111, 821

-4 HY G Bf & 4,060, 950 4,245,750 -184, 800
-4 Hy K L ## Bh = 4,060, 950 4,245,750 -184, 800
-4 HY e i 4 517,165, 836 22, 543, 382 34,622, 454
-4 HY & i o4 46, 044, 824 21, 331, 521 24,713, 303
-4 Hy & i = & & 11,121,012 1,211, 861 9,909, 151
i 4R #® 5, 341, 810 4,614,392 127,418
-4 Hy # B 121,199 151, 306 =30, 107
-4 Hy # R 121,199 121, 306 -107

o] i H 5 # 2 0 30, 000 =30, 000

i 4R #® 9, 220, 611 4,463, 086 157,525
BEEIREET 3,093, 106, 136 3,251, 590, 288 -158, 484,152

(2) BREER

e * = 3,021,218, 119 3,028, 862, 029 -71,643,910
& 8 #H B 35, 696, 850 32,174,150 3,522,700
5 5 F = 216,172,079 213,201, 812 2,970, 267
i £ 85, 441,524 86, 820, 573 -1, 379, 049
B £ 7 35, 507, 500 30, 801, 690 4,705, 810

7 )% AN 1 t tt 49,934, 024 56,018, 883 -6, 084, 859

pld i 5 1t =1 H 14,272,976 13,229, 075 1,043, 901
% TE 12 # i 91,798, 901 50, 737, 406 1,061, 495

= # 2 & = 6,078, 849 6, 135, 688 -56, 839

xf 5 # 964, 580, 924 925, 718, 939 38, 801, 985
) &= 213, 613, 441 261, 340, 547 6,272, 894
= E 7 12,501, 118 23,615,678 =11, 114, 560
i =1 x ;] i 121, 589, 434 128, 508, 378 -6, 918, 944
i ES ;] £ = 1,138, 959 1,364, 866 =225, 907

59 ) tt 120, 450, 475 127,143,512 -6, 693, 037

bt} = & & =1 51,799,076 41,083, 249 10, 715, 827
iR i & Al 7 39, 335,472 395, 7118, 140 3, 556, 132
H % AR 7 28, 492, 859 83, 226, 371 -54, 733,512
& f = 14,515, 427 10,127, 726 4,387,701
I & = = 7 60, 588, 907 17,755, 631 42,833, 276
X 3 i 44, 422, 608 55, 177, 981 -10, 755, 373
gt 2 K # = 12,570,912 14,702, 890 -2,131,978
g Gl # 51,420, 028 51,993,673 5,426, 355
15 53 # 2, 898, 855 2,208, 838 690, 017
] #Ht & 4617, 885, 453 515, 194, 606 -47, 309, 153
# i N B3 19,771,615 17,349, 513 2,428,102
E & 7 263, 688, 025 243,903, 598 19, 784, 427
# =] 5] AR il i) = 47,765, 664 30, 515, 317 17,250, 347
£ # 5] AR us A = 101, 300, 170 136, 791, 893 -35, 491, 723
i3 & it A = 18, 311, 001 21,621,721 -3, 310, 720

o ¥+ it A = 30, 790, 393 42,591, 721 -11, 801, 328

i £ it A = 19, 453, 320 21, 364, 512 -1,911,192

59 ) ftt it A = 32, 745, 456 51,213,939 -18, 468, 483

# x 5] AR il i) = -45, 818, 510 -47,765, 664 1,947, 154
& 1t & 950, 000 2,186,195 -2, 236, 195
g 1 = % A % 18, 000 93, 000 =75, 000
®"EERB B F 51 & £ A8 2,149, 200 2,134,050 15,150
i i 10, 112, 262 8,262,176 1, 850, 086




# B SEE RIS I
5 b 7 68, 380, 866 80,607, 325 -12, 226, 459
& 8 2 ) 9,149, 150 8,432, 850 716, 300
#a 5 F = 21,080, 776 25,953, 215 -4, 872, 439
bl i 5 1t =1 H -9, 620, 166 0 -9, 620, 166
% TE 12 # i 4,137,105 4,974, 436 -837, 331
& # = & 7 189, 831 1,556, 429 -1, 366, 598
= E 7 245, 730 1,519, 051 -1, 273, 321
i3 =1 x ;] i 2,036, 962 1,402, 958 634, 004
i ES ;] £ = 181, 248 177,633 3,615
59 ) tt 1,855, 714 1,225, 325 630, 389
bt} = e & =1 931, 496 2,081,579 -1, 150, 083
iR i & Al 7 196, 052 114,172 81, 880
H % AR 7 1,479, 346 4,821,969 -3, 342, 623
& f 7 2,281,548 106, 013 1,575, 535
I & = = 7 242, 081 456, 926 -214, 845
X 3 i 2,163, 391 3,212,706 -1,109, 315
Jt 2 K # = 209, 017 250, 585 -41, 568
g & # 441,739 904, 815 -463, 076
15 53 3 169, 592 376, 943 -207, 351
] #Ht & 9, 148, 121 0 5, 148, 121
* i N B3 196, 401 296, 217 500, 184
E B = 14, 260, 831 17,361,511 -3, 100, 680
®"EERB B % 51 & £ A& 367, 800 355, 950 11, 850
Zh b2 & e A % 1,812,500 9,167, 500 2, 645, 000
-3 1 e i = 50, 000 0 50, 000
i 7 11, 563 1,500 10, 063
BEERA 3, 089, 598, 985 3,109, 469, 354 -19, 870, 369
LR EIEREE 3,507, 151 142,120, 934 -138, 613, 783
2. RESNMEBDE
(1) REES IR
5 & 5l £ = E A # 0 148, 000 -148, 000
E & I3 5t il i 10, 620, 120 0 10, 620, 120
E & I3 -4 i i 800, 000 0 800, 000
BRI ET 11, 420, 120 148, 000 11,272,120
(2) BENE
E & I3 (73 Al | 352, 2178 2 352, 276
BENERG 352, 218 2 352, 276
LR ESMEREE 11,067, 842 147,998 10, 919, 844
F5t 51 i 24 A — AR IE B B EE1RREE 14,574, 993 142, 268, 932 -127, 693, 939
EAB - £ R Bt R UFE EH 9, 143, 000 6, 585, 400 -842, 400
L — AR IERREA IR IRIER 8, 831, 993 135, 683, 532 -126, 851, 539
—RRIERMEREES 1,482,574, 914 1, 346, 891, 382 135, 683, 532
—RRIEREAEHAR RS 1, 491, 406, 907 1,482,574, 914 8, 831,993
& 1 1E PR B EE 1R OD 1
-4 HY & 1t i 15 E 0 11, 000, 000 -11, 000, 000
2 WM F O & 5 £ B K 0 1,000, 000 -1, 000, 000
2 W F 1t = B & % 0 10, 000, 000 -10, 000, 000
— % E K B E ~ 0 Kk B #H -11,121, 012 -1, 211, 861 -9, 909, 151
L AR E IERKBA EE IR IR AR -11,121, 012 9,788,139 =20, 909, 151
B ERI EH RS 343,922,970 334, 134, 831 9,788,139
EEERMERARES 332, 801, 958 343,922,970 -11,121,012
IEREERARES 1,824, 208, 865 1,826, 497, 884 -2, 289, 019




